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Solve two values of thing by using “tsurukamezan”
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English {}
Question 1 Question 2

When the combined number of

pheasant and rabbit is sixty

animals.There are one hundred fifty
legs.Solve the number of pheasants and

rabbits.
Answer

0adWSs.

Solution

If rabbit is pongee, pheasant is cloth,
and the number of feet is price. Four
legs of rabbit and a piece of spun silk

Pheasant —>Forty five wings. Ninety

Rabbit - Fifteen wings. Sixty paws.

There were two thousand goku in
south and north village. The
taxation is nine hundred and eighty
seven goku and five to. The ratio of
south village taxes are forty percent.
The ratio of north village taxes are
fifty five percent. Solve the each
village’s production and taxation.
Answer
South village —>Production are one
thousand two hundred and fifty
goku. Taxation are six hundred and
eighty seven point five goku.
North village - Production are

Therefore, x=15 y=45
Substituting this for )
4 X x=4 X 15=60 <
2 X y=2 X 45=90 .
Therefore fifteen rabbits
and sixty legs and forty
five pheasants and ninety

Therefore,

stones.
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and south is 0.55.

(0. 4x+0. ooy=987. 5
x+y=2000
x=750 y=1250
Therefore, north production volumes
are 7.5 million stones and tax are 300
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South production volumes are 1250
stones and tax are 687.5 stones.
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/The stone of the unit came from China. It is a unit of capacity
| formerly. It was used as a unit of volume in Japan. The value of the
stone of the early period of Edo era was 100,000 yen same as
modern value. However, from middle to late 30,000-50,000 yen, at

¥

thread are the same price. Four legs of .
oheasant and a piece of cloth are the  seven hundred and fifty goku. thg end of the ToI.<ugawa period 3000-4000 yen because the market
same price. We can understand by using Taxation are three hundred goku. price was fluctuating every day. Therefore, the value of one modern
these g Solution A stoneis about 100,000 yen. (It was established at the time of treaty
The way of thinking is same to ratification of 1886.) It is equal to value of the early period of Edo era.
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